
Soustraction Horizontale de Décimaux (A)

Calculez chaque différence.

338,46 − 8,09 = 31,64 − 7,6 =

917,9 − 9,75 = 869,579 − 9,19 =

466,2 − 213,311 = 34,95 − 12,83 =

4,6 − 1,391 = 831,3 − 40,2 =

786,921 − 34,182 = 98,4 − 71,521 =

12,5 − 4,265 = 66,045 − 2,6 =

72,03 − 8,59 = 489,9 − 1,69 =

462,022 − 11,64 = 714,746 − 3,2 =

8,586 − 5,5 = 912,257 − 826,88 =

103,1 − 3,9 = 942,467 − 2,159 =
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Soustraction Horizontale de Décimaux (A) Réponses

Calculez chaque différence.

338,46 − 8,09 = 330,37 31,64 − 7,6 = 24,04

917,9 − 9,75 = 908,15 869,579 − 9,19 = 860,389

466,2 − 213,311 = 252,889 34,95 − 12,83 = 22,12

4,6 − 1,391 = 3,209 831,3 − 40,2 = 791,1

786,921 − 34,182 = 752,739 98,4 − 71,521 = 26,879

12,5 − 4,265 = 8,235 66,045 − 2,6 = 63,445

72,03 − 8,59 = 63,44 489,9 − 1,69 = 488,21

462,022 − 11,64 = 450,382 714,746 − 3,2 = 711,546

8,586 − 5,5 = 3,086 912,257 − 826,88 = 85,377

103,1 − 3,9 = 99,2 942,467 − 2,159 = 940,308

MathsLibres.com


